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3.

35.73 N
20 cm

1 1

4.
 

(1)

1− ref( )S↓+ L↓ = H + lE +G +εL↑ (1) 

 

 
1 ref 

0.06 S 
↓

W/m2

2 L 
↓

W/m2

1 1 W/m2

W/m2

3
W/m2 4 ε

1 4 L 
↑

W/m2

 

(2)

H = cpρCHU Ts −T( )                               (2) 

lE = lρCEU qsat Ts( )− q( )                          (3)

CE = βCH
                                              (4)

 
 

(2)  cp ρ CH U Ts T
J/(kg K) kg/m2

m/s K K
(3)  l CE qsat q

J/kg kg/kg
kg/kg (4) β

 
 

β 1  
 

CE ≈ CH
                                              (5) 

1 km
9 5 m/s

CH ≈ CE =1.2×10
−3                                (6)

0 m/s (6)
0.5 m/s

 

5.

-1 Input (1)
Output (1)

W/m2

Input
Output

(7) (8)  
 

-1
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dG

dt
= Input −Output (7)

Output =αG (8)

α Output G
α

α Output
 
2 (9)  

 

Output = e−αtOutput0 + Input τ( )αe−α t−τ( ) dτ
0

t

∫ (9) 

 
Output0

W/m2 (1)
Output0

0 (1)

Input
0 Input0 W/m2

Output0  
 

Output0 = Input0                                      (10) 
 

(9) (10)  
 

Output = e−αt Input0 + Input τ( )αe−α t−τ( ) dτ
0

t

∫  (11) 

 
2

 

6.  

Output
-2 -3

1.7 m

7 8 -4

0

Input
 

0.07

α0

 
α > α0 10 12

1 8

-2

-3

-4
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α < α0 1 3
4 9 10 12

α = α0

10
12 α > α0 α = α0

7.  

1.7 m
-4

Input

-5

-7

-9

-6

-8

-10
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-5 -9

-10

-2
-3 1 3

4 9

10 12 -3 -6 -8
10

10 12

8. 

0.07

0

 
9

9

10 12

10

α =
Tave
Tmax

×
Tmax −Tmin

DayNo.max −DayNo.min

Tave 1 Tmax 1
Tmin 1 DayNo.max 1 1

1 1 DayNo.min 1 1
1 1

α = 0.069 ~ 0.08
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